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(270. The square of an even number is an even number

«

Which of the following can be proved using proof by contradiction.

O a.The sum of two odd integers is even.

J-c.If3n+ 2is even, then nis even
) d.If nis odd then 3n+7 is even

(O e. All the choices are correct
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Which of the following describes the proposition (—p V q) A ¢?

O a.ltis tautology

O b.ltis contradiction

) C.ltis logically equivalenttop A q
" d.ltis logically equivalent to p

€. Itis logically equivalent to g
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If A = 12} y}, o;ié B =“{ﬁl, 4,—3}, wﬁct is the valueof A X B
O a. {(4::5): (4' y), (la :B), (13 y)a ("'31 :B), (_3’ y)}
b. {{.’B, 1}’ {ms 4}a {(B, —3}: {ya 1}1 {ys 4}1 {y’ _3}}
:: C. {(y! 1)1 (mi 1)3 (y) 4)’ (:B’ 4)! (y1 _3)! (:B, _3)}
0 d{z1,y1,24,y4, —x3, —y3}

o e.b
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s the following inference correct? if not identify the error in which step.

.ll' dz(P(z) A Q(z)) is true, then
JzP(z) A 3zQ(z) is true

1.3z(P(x) A Q(z)) Premise
2. P(c) A Q(c) Existential instantiation from ()

' 3. P(c) simplification from (2)
4.3zP(z) Existential generalization from (3)

5.Q(c) simplification from (2)
6.3xQ(z) Existential generalization from (5)
7.3zP(z) A 32Q(x) Conjunction from (4) and (6)

~ @.Errorin Steps 3 and 5
. b.Errorin Step 2

C.Errorin Step 7

d. Error in Steps 4 and 6

/!he inference IS correct
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Question 4 Which of the following can be

Not yet :
roved using proof b
answered P ' .9 P Y
contrapositive
Marked out of
2.00
\" Flag

o a.The sum of two odd

question
integers is even.

o) b. The square of an even
number is an even number

/. If 3n + 2 is even, then n is even

O d.If nis odd then 3n+7 is even

O e. All the choices are correct

Clear my choice
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PAG— G=
a. g

,c. True

dpAig

7 OWERG@UINIT

e. None of the choices is correct
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letthesetS={zlz € ZNz >4 Az < 10}
ISI =

0O a3

() b. 4

. d.b

e. /
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| O c.True

— B WEROUNIT

7y e. None of the choices is correct

Question 7 letthesetS={z|lzc € ZAx >4 Az <10}
Not yet sont
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* Given the following premises:

P: The student has graduated

g: The student passed the courses

r: The student has paid his tuition fees

What is the translation of the following statement?

The student will not graduate only-if he has not passed his courses or has not paid his tuition fees

4 a.-rV-q— -p
brvg—p

C.—p——qV-r
d.ﬁr/\—vq——)» -p

€. rV-q& —p
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The premises (p A q) V r and r — s imply which of the conclusions?
OapVr
b.pVs
OcpVg YAVANASINCLUIIN
OdgVr

DepAq
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Given the following premises:

p: student has graduated
¢ The student passed the courses

r: The student has paid his tuition
fees

What is the translation of the
following statement?

If the student did not pay his t1/* on
fees or did not pass his courses, he
will not graduate
Qa=rv-oqg-— L
Obrvg—yp
QCp—=qVr
=) A el 2 (5 @ (11157
7 OWERGUNI T
O d=ra g = =p

QO e-rvVm-g e -p

tA C B, thenﬁ—]:

. O A

o b B

Scanned with CamScanner



Which of the following is true where the domain consists of positive integers.

O b.dzVy(z < y

2
POWERGUNIT

O d.Vzdy(zy = 0)

D e VeVy(z +y

) e. None of the answers is correct
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v ich conclusion logically follows from the following premises?
P g
Ewr—q

o POWERGUNIT

O b.—pV

o™’

O d-pV-or

O epV-or
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Which of the following is true, where the domain consists of negative integers

O a.dz(z+5>4)

2. Vz(5z < 0)

O c.Vz(Tz > op Dw@@ i@@ NU \

= d.dz(2z = 0)

~ e. All the choices are correct
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Let the set S = {1, 2, {3,4}}. which of the following is true
O a{l}esS
5 b.{1,3}C S
2N /=
WERG@UINIT

D ec.d4t e S
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|
| Question 15 Let the set S = {1, {2}, 3,4}. Which of the following is true

- Not yet
~answered a. {2} €S
Marked out of l
gt O b.{1,2} C S
7 OWECR@UNIT
_ question O c. {4} c
Odees
O e{3,4}€S
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Which of the following is true?

O a.If 3is an odd integer, then -3 is not a negative integer.

O b.12 is an odd numbrzr pr -4 is pot,g negotnﬁ rTmTr‘
\YJAVAY [L _—I [ N\,

O c.5is anegative mteger‘lf ond only 5 is an odd number

d. 2 is a positive integer and 5 is anota negative number

) e. None of the choices is correct

Clear my choice
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W ——— e m, g T e = 3 g n o w e - —————— - - —— — -

What is the translation of the following predicate (Domain: all animals)
Where:

L(x): x is lion

w(x): x is weak

S(x): x is strong

"All lions are strong or weak’

- a.Vz(L(z) — S (:IL)P) (Q :h\Jr)/ l i Lr'\\ U\J H

) b. None of the choices is correct

> e.Vz(L(z) A (S(z) v W(z)))
- d. 3z(L(z) = S() VW (z))

~ e.3z(L(z) A (S(z) vV W(z)))
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T T T = e -

- — . — ———— G R W W= — ol —— —

Which of tha following is true where the domain consists of tntoger numbers.

O a.dzVy(z +y = 0)
O b.VzIy(z = y?)

Oc.Vsz(z+y>0) v = s PR T Y

‘L_—;’J (O\U U.f’f (S | (YY) H l j H } l

O d.Vzdy(zy < 0) J o DU NWN= U UU U
e.None of the answers is correct

Clear my choice
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Is the following inference correct? if
not identify the error in which step.

If 3xP(x) A IxO(x) is true, then
Ax(P(x) A Q(x)) is true

I. 3x P(x) A 3xQ(x) Premise
2. 3x P(x) simplification from (1)

3. P(c) Existential instantiation from

(2)
4. dxQ(x) Simplification from (1)

5. Q(c) Existential instantiation
from(4) POWERO®URNIT

6.P(c) A Q(c) Conjunction from (3)
and (5)

7. dx(P(x) A Q(x)) Existential
generalization

- Q. Error in Steps 2 and 4
O b.Errorin Step 3
) C.Errorin Step 7

O d.Error in Step 5
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If A= {1,4,—-3}, and B = {z, y}, what is the value of A X
O a{(4,2),(4,),(1,2),(1,),(-3,2),(-3,9)}

b {12}, 4,2}, {-3,2}, {1}, {4y}{ ~3,4)

> c.{(z,4), %@W E@Q@M ) (¥, -3)}

- d- {1z, 1y, 4z, 4y, — 3z, —3y)

e.0
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